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   CS301 Solved Quiz NO-1 Fall 2012
Which one of the following is TRUE about recursion?
1. Recursive function calls consume a lot of memory.
2. Recursion extensively uses stack memory.
3. Recursion extensively uses stack memory.
4. Iteration is more efficient than iteration.

Which of the following is not a data structure ?
1. Linked list
2. Queue
3. stack
4. Memory cell
“+” is a _________operator.
1. Unary
2. Binary
3. Ternary
4. None of the above

When an executable program run, it is loaded in the memory and becomes a_______.
1. Thread
2. .h file
3. Process
4. None of the above
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In array list the worst case of removing an element is
1. To remove an element from the end of the list
2. To remove an element from the middle of the list
3. To remove an element from the start of the list
4. =We cannot remove element from an array list

The tree data structure is a
1. Linear data structure
2. Graphical data structure
3. Non-linear data structure (Not Confirm)
4. Data structure like queue

To create a _________ we link the last node with the first node in the list.
1. Double linked list
2. Circularly-linked list
3. Linked list
4. None of the above

In______, a programmer uses two pointers in the node, i.e. one to point to next node and the other to point to the previous node.
1. Linked list
2. doubly-link list
3. array
4. structure

Each operator in a postfix expression refers to the previous ______ operand(s)
1. one
2. two
3. three
4. four



 
Which of the following operations returns top value of the stack?
1. push
2. pop
3. top
4. First
Quiz No-2 Fall 2012

1.When an executable program run, it is loaded in the memory and becomes a_______.
Select correct option:
Thread
.h file
Process
None of the above

 

2.A kind of expressions where the operator is present between two operands called ________expressions.
Select correct option:
Infix
Postfix
Prefix
None of the above

 

3.Which of the following operations returns top value of the stack?
Select correct option:
push
pop
top
first

 

4.To create a _________ we link the last node with the first node in the list.
Select correct option:
Double linked list
Circularly-linked list
Linked list
None of the above

 

5.In the calling function, after the execution of the function called, the program continues its execution form the _______after the function call.
Select correct option:
Previous line
Next line
Beginning
None of the above

 

6.Doubly Linked List always has one NULL pointer.
Select correct option:
True
False
7. ________ only removes items in reverse order as they were entered.
Select correct option:
Queue
Stack
Both of these
None of these
 

8.In the linked list implementation of the stack class, where does the push member function places the new entry on the linked list?
Select correct option:
After all other entries that are greater than the new entry.
At the head
After all other entries that are smaller than the new entry.
At the tail

 

9.Which of the following is known as "Last-In, First-Out" or LIFO Data Structure?
Select correct option:
Linked List
Stack
Queue
Tree

 

10.Which boolean expression indicates whether the numbers in two nodes (p and q) are the same. Assume that neither p nor q is null.
Select correct option:
p == q
p.data == q.data
p.nextNode == q. nextNode
p.data ==
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In case of insertion of ight outer node in BST,

Select correct option:

O we apply single lef rotation to make it AVL tee.

O we apply single right rotation to make it AVL tee.

© e apply single lef rotatio fist and then right rotation to make it AVL tree.

O we apply single right rotaton first and then It rotation to make it AVL tree.

Total Marks: 1

Click here to Save Answer & Move to Next Question
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‘Which of the following staterent related to delsting nodes from a binary search tree is NOT correct ?

Select correct option:

©  The nade to be deleted has no children; the nods can be deleted without any adjustment. Delete the leaf node and set reference from its parent to null eference.

O The nade to be deleted has two subtiees. The method to be used s to replace the nods being deleted by the rightmost child of s left subres.

O The nade to be deleted has two subtiees. The method to be used s to replace the nods being deleted by the leftmost child o s ight subtres.

O The nade to be deleted has no children; the nods can be delsted with very few adstments to the tree.

Click here to Save Answer & Move to Next Question





[image: image3.png]Qui
(© quiz.vu.edu.pklQuizQuestion aspx7v

BC100200087 : Ikram-Ul-Haq

Google Chrome

edsclcf-2566-4540-2060-268659022198

Quiz Start Time: 08:34 AM
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Ifan objectis declared as constin a function then any further functions called from this function cannot change the value of the const object

Select correct option:

O e

O Fake

Click here to Save Answer & Move to Next Question
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Question #4 of 10 ( Start time: 08:34:54 AM )

In case of insertion of rightinner node in BST,

Select correct option:

O weneedto apply single lef rotation to make it AVL tee.

O weneedto apply single right rotationto make it AVL tree.

O single left rtation fst and then single right rotation to make it AVL tie.

O single ight otation fist and then single Iet rotation to make it AVL tee.

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 5 of 10 ( Start time: 08:35:04 AM )

Inwhich traversal method, the recursive calls can be used to raverse a binary tree 7

Select correct option:

O Inpreorder iaversal only
O Ininorder traversal ony
O Inpostorder traversal orly

O Allof the given options

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 6 of 10 ( Start time: 08:35:16 AM )

We can notremave items randornly fram

Select correct option:

O stack

O uese

O Bathofthese

O Noneof these.

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 7 of 10 ( Start time: 08:35:33 AM )

Each node in doublylink st has,

Select correct option:

O 1 pointer

O 2pointers
O 3pointers
O 4pointers

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 8 of 10 ( Start time: 08:35:45 AM )

The nextfield inthe last node in a singl-linked listis set to,

Select correct option:

O

o

O N
O fake

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 9 of 10 ( Start time: 08:35:58 AM )

STLisa thatis a partof the offcial standard of C++

Select correct option:

O Cproganfie

(S
O efie
O Ly

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Question # 10 of 10 ( Start time: 08:36:10 AM )

‘Whatwill be postiix expression of the following infix expression? Infix Expression : a*b*c-d

Select correct option:

O bt
O sberea
O abod~
O sbovi

Total Marks: 1

Click here to Save Answer & Move to Next Question
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Total Marks: 1
Which ofthe following is known as “Lastin, Ftst-Out” or LIFD Data Structure?

Select correct aption:

O LinkedLint

® stk

O e g
A T

[ Clickhere to Save Answer & Move to Next Question
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Question # 2 of 10 ( Start time: 03:52:14 PM )

‘Whenever we cal a functon, the compler makes a stack, the tap element of the stack s

Select correct aption:

©  Fistargument

©  Relun addess

O Lastagument

O Nare o the abave

of the functon,

Total Marks: 1
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Question # 3 of 10 ( Start time: 09:53:39 PM )

‘Which ofthe following operalions reuns top valus of the stack?

Select correct aption:

O uwh
O
® o
O

Total Marks: 1
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Click here to Save Answer & Mave to Next Question
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Question # 5 of 10 ( Start time: 09:56:37 PM )

‘Which one of the following operalions retuns top valus of the stack?

Select correct aption:

O Puh
o P
® T
O Fst

Total Marks: 1
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Click here to Save Answer & Mave to Next Question
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node.

Select correct option:

o Linked list

® doubly-link list

o amay

o] structure

Total Marks: 1

In . a programmer uses two pointers in the node, i.e. one to point to next node and the other to point to the previous
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Question # 7 of 10 ( Start time: 09:59:06 PM )

Stack and Queue can be implementedusing |

Select correct option:

® Singly Link List

o Binary Tree

o Binary Search Tree

o AVL Tree

Total Marks: 1
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Question # 8 of 10 ( Start time: 10:00:30 PM )

STLisa that is a part of the official standard of C++.

Select correct option:

® C program file

o -hfile
o .cpp file
o Library

Total Marks: 1
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Question # 9 of 10 ( Start time: 10:02:00 PM )

Aqueusisa data structure, whereas a stackis a

Select correct option:

® FIFO, LIFO

o LIFO,FIFO

o} both of these

o none of these

Total Marks: 1
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Question # 10 of 10 ( Start time: 10:03:19 PM )

Select correct option:

o Double linked list

® Circularly-linked list

o} Linked list

o None of the above

To create a we link the last node with the first node in the list.

Total Marks: 1
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